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Se0|ERE3 ¥ ez 502,381 453,735 48,646

= 295,425 296,779 A1,354

=l 63,956 63,956 0

= 143,000 93,000 50,000
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= 63,956 63,956 0

= 18,000 18,000 0
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= 116,720 131,720 A15,000
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= 22,040 15,840 6,200

01 AFR2t2IHI 22,040 15,840 6,200
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= 20,000 13,800 6,200
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= 5,000 7,500 £2,500

01 2LHOI ] 5,000 7,500 A2,500
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= 5,000 7,500 A2,500
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NEEEEE 0 31,500 31,500
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= 17,705 11,059 6,646
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= 19,000 12,000 7,000
201 Yt ey 12,500 8,000 4,500
= 12,500 8,000 4,500
01 ALl 12,500 8,000 4,500
0E=E Xsls 12,500 8,000 4,500
= 12,500 8,000 4,500
202 04| 3,500 2,000 1,500
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01 2L 0iH 3,500 2,000 1,500
OE=2E Xs= AR 3,500 2,000 1,500
= 3,500 2,000 1,500
301 LErE A 3,000 2,000 1,000
= 3,000 2,000 1,000
10 SAtAIH 2 A2 3,000 2,000 1,000
OEE= NAT=AY = 3,000 2,000 1,000
= 3,000 2,000 1,000
MEssREHe(=D) 100,000 100,000 0
= 50,000 50,000 0
= 50,000 50,000 0
201 Ypre ey 6,000 18,000 ~12,000
= 3,000 9,000 26,000
= 3,000 9,000 6,000
01 AtRZ2lY 6,000 18,000 ~12,000
osMEE gL 6,000 18,000 A 12,000
= 3,000 9,000 26,000
< 3,000 9,000 26,000
206 TH 2 75,000 71,000 4,000
= 37,500 35,500 2,000
= 37,500 35,500 2,000
01 HaH| 75,000 71,000 4,000
osMES gL 75,000 71,000 4,000
= 37,500 35,500 2,000
< 37,500 35,500 2,000
301 LErE AR 0 4,000 A 4,000
= 0 2,000 A2,000
[ 0 2,000 A2,000
10 AtAIH 2 A2 0 4,000 A 4,000
osuasE yae 0 4,000 A 4,000
= 0 2,000 A2,000
[ 0 2,000 A2,000
307 ©I12+0| X 12,000 0 12,000
= 6,000 0 6,000
< 6,000 0 6,000




2 4 O
iz ot
Y

1
=

W
i

1 {0
o b

O.I.I.
4>
z
>
40 4
ol
o

=
o

N3 (3AH) HA= AF oK plpsgel: &2
05 Q122 ErZ 12,000 0 12,000
OFNs28Y 12,000 0 12,000
= 6,000 0 6,000
< 6,000 0 6,000
CRESMNAZYTY 75,000 25,000 50,000
401 AlEH 2 20 75,000 25,000 50,000
01 Al&H] 74,000 24,730 49,270
CRENAF 74,000 24,730 49,270
03 Al 2 0HYl 1,000 270 730
OCESNAZ S 1,000 270 730
AP (SHFAAR 1,185,891 1,185,891 0
Z 1,145,891 1,185,891 240,000
= 40,000 0 40,000
J| =& 139,533 139,533 0
Z 99,533 139,533 40,000
< 40,000 0 40,000
SN2Y JI=2FHI(=2 139,533 139,533 0
Z 99,533 139,533 40,000
< 40,000 0 40,000
201 Lt A 88,973 88,973 0
Z 48,973 88,973 40,000
[ 40,000 0 40,000
01 At 22l 51,473 51,473 0
ORAMN2Y AR2t2lH| 31,473 51,473 20,000
Z 31,473 51,473 A.20,000
ORAMN2Y A22t2IH| 20,000 0 20,000
R =329l 37,500 37,500 0
ORN2Y B2329H 17,500 37,500 A20,000
Z 17,500 37,500 20,000
oORN2YBS 29I 20,000 0 20,000
S(SHSAAIR L) 5,220 0 5,220
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UCIHZY PR 2 NEXZ 5,220 0 5,220
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